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o PV AT BT 5 I % FT FIT-0H § JRT §T 8 T F97 35 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 38§ questions.

o gheEreff o7y T To FIT-UH T 9T [r@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FY 37 @ (@ 98 FrRET #Y o [ geT9A §U 7 & 8, qhEr & I 59
T g A aar @hwre & REr ki

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 Aar &

All questions are compulsory.

(i) 3797 F7% 1 @ 35 7% TGS F97 81 JA% 97 1 37 H 81 [RAFEN 57 597 %
g g

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer these questions as per instructions.
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@ - =i sglamediq 797 % el [4weq giag

Instruction : Select the correct option of the following multiple choice questions :

1. OF F&@ gadell YoRRY IRYF &N W Bl B 1
(A) 7 eRiih 7 DA
(B) 8 gl 7 b
(C) 8 kil 8 DA
(D) 9 kil 8 DA

Typical Angiosperm embryo sac at maturity is :
(A) 7 nucleated 7 celled
(B) 8 nucleated 7 celled
(C) 8 nucleated 8 celled
(D) 9 nucleated 8 celled

2. 9RT TER 7 HF-4 a9 § Rfeeid G @ S B @B FeH B X 3

W B FHied e o o, s SqH geqE 7 & ? 1
(A) 1969 # (B) 1970 ¥
() 1971 # (D) 1972 H

In which year Govt. of India has legalized MTP with some strict conditions to
avoid its misuse ?

(A) 1969 (B) 1970
(©) 1971 (D) 1972
3. T q BH-A1 wmgsi & 7 1
(A) TT
(B) Tt
(C) tt
(D) & @ & T
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Which of the following is Heterozygous ?

(A) TT
(B) Tt
(C) tt

(D) None of these

4. NEH VT © 1
(A)  AUG (B) UAC
(C) UAA (D) UAG

Initiator codon is :
(A) AUG (B) UAC
(C) UAA (D) UAG
5. M JHM © 1
(A) T S A
(B) S S I
(C) S S AT
(D) & & P T
Common cold is :
(A) Viral disease
(B) Bacterial disease
(C) Protozoan disease

(D) None of these
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6. viaaifas el i Ted e e @i @ ? 1

(A) Hed

(B) To W™

(©) %o aF

(D) Too ®iR

Who first discovered Antibiotic ?

(A) Mendel

(B) A. Fleming

(C) E. Chain

(D) H. Florey
7. ‘W & F I A H-G1 TG F Ieoi /IAET F RO B & 7 1

() SffeEeT 4

(B) I SEATFES 14
(C) FEgRM |
(D) giferm I

The puffed up appearance of 'dough' is due to production of :

(A) O, gas
(B) CO, gas
(C) N, gas

(D) Helium gas
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8. T 9 HI-G1 USTEH (SORE) SaT] &t HIER (T ® qre & FM 0 & ? 1
(A)  TTEETEH
(B) &g
(C) rEfessT
(D) ¥ q H& T
Which of the following enzyme is used to break bacterial cell wall ?
(A) Lysozyme
(B) Cellulase
(C) Chitinase
(D) None of these
9. S (Bt) Sfa-fay WA fF8 pH W @lkg & 8 ? 1
(A) o=iE pH T
(B) e (¥gd) pH W
(C) & T Fgal pH aFl W
(D) e 8KE pH W
Bt toxin protein is active at :
(A) Acidic pH
(B) Neutral pH
(C) Both Basic & Neutral pH
(D) Alkaline pH only

10. fogd +/+ 68 UeaRa frar &1 welia @ & ? 1
(A) TRHE
(B) @i
(C) HRIgHIT
(D) ST TXHer
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The sign +/+ shows interaction :
(A) Predation
(B) Competition
(C) Mutualism
(D) Amensalism
33T : S /=T ERT ReT &yl &1 g #¢1 o7 J97 % Fav 9% a7 & = 7 a7 e

Instructions : Fill in the blanks by appropriate words. Answer of other questions may
be given in one or two words or sentence.

11. =X Rigw & 3RAerg & ..ooee.. | 1
Karyotype in Turner syndrome is ..............
12. BT & O H Al T&T ..o Bl 1

The genotype for blood group O is .............. .

13. ELSI®H QU &Y foe] 1
Write down the full form of ELSI.

14, SARTAY GIRAERST .o A et AT Bl AT B 1
RNA polymerase binds to .............. site and initiates transcription.

15. IE% HCAAHED ST B eoveeee PR X fRer & R 1
Promotor is said to be located towards .............. end of the structural gene.

16. ‘SAU-UH g ‘FeAer’ § 1 AR B ? 1

Write down difference between 'DNAs' and 'DNase'.

17. qqemed e A/ g ? 1

Define test cross.

18. TEHCTIEMT B GAT TH 8 ovevnen | 1

Megasporanzium is also called ................ .
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19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

(7) 5630/(Set : B)

"ART" & QU &9 frau 1
Write full form of "ART".
........... IR A J SfRE SR 2 1

TgH & WU 9% &9 & M § A0 S Al Aaled TEeT ... 2| 1
A widely used diagnostic test for AIDS is .............. .

‘cuud & MR ? 1
What is "MALT" ?

mﬁﬁ’ﬁmaﬁa@@@mmﬁ@ﬁaﬁwmwwﬁmmmﬁ
TAH vevennnnn, % IR & HRT & 2

Large holes in "Swiss Cheese" are due to production of a large amount of

............... by a bacterium named Propionibacterium Shermanii.

T T & SN R e IR B H e 6 e 8 ? d@ R AR war e !

LAB is useful in production of household articles/products. How & when item
it produces ?

pirellcy BB o 1 | 1
What is the scientific name of Yeast ?

TTg(RICST 1 T FA © 7 1
Explain the role of Exonuclease.

‘Iirpicra T’ 1§ 7 1
What is 'Ori' ?

frash ispaar #Fn & ? 1
What is insertional inactivation ?

ST o P & ] 1
Expand GMO.
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30.

31.

32.

33.

34.

35.

(8) 5630/(Set :

JEERET FM R ?

What is biopiracy ?
1983 #, o AN &l 3 Sgfe aaman o ?

In 1983, which American company prepared insulin ?

qfaf~Spaar 1 2 7

What is Hibernation ?

S %l G
Define Natality

TRHE T B 7
What is Predation ?

1992 # 9 fafael T gedl FRTT oo g gam o

Earth Summit on Biodiversity was held in .............. in 1992.
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